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@ 330a=3.3ha
® 540000 m? = 54 ha

B 1.7km?2 = 17000 a,

@ 20ha = 0.2km?

@ 6.1ha = 6100m?
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® 13ha =130a ® 1.8km? = 180004
@ 5.6km? = 5600 ha @ 92000a = 92ha

3 8.5km2 = 850000 m2
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@ 0.02km? @ 0.2ha ® 2000a

@ 20000 m? ® 2ha



@D 0.21ha
® 5800a

B 1.41 km?2

@ 3000 cm x 45 m

@ 1.43km?2
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@ 3t = 3000kg @ 9000t = 9kg
@ 2t = 2000000 g @ 0.6kg =600g

® 0.65t = 650kg
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@ 240a =2.4ha @ 0.12km? = 1200 a
@ 97.2ha = 972000 m?2 @ 3140a = 3.14ha

3 3500000m2 = 3.5 km?



i)
mlo
ol
i
e
lo
i
{0
|
3
Ml
I
S|
s,
rlo
2
|
Y,
rO
B
k1
il
>
to

@ 4a = 400m? @ 2000a = 20ha
® 6km? = 6000000 m? @ 3500000a = 35km?

(3 780000 m2 = 78 ha,
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4.2ha
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420(

)

42000(

@ km?, a
® ha, a

@ m?, cm?

@ ha, m?
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3700000( ) = 370( )= 3.7 km?

® m?, cm? @ m? a ® m? ha

@ ha, m? ® a, ha
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@ 480000 m? @ 4.8km?

® 4800a @ 48ha

(3 4800000000 cm?2
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© 12ha @ 1200000 m?

3 1200000000 cm?
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2 kg

®© 72, 1kg @ L, 0.1kg

oldl&= 3.2ha 9] =oflA] & 5.6t & AF45FA, W= 4.5ha
oA & 7920 kg & AATFAHUT 1a G ALFE ol o
o S5zt

O

® ¥4t 0.01kg

@ W4, 1ke ® W, 0.1ke
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® A 1L =2-18a @ AHE c=nu-18a

® A LT =-20a



